t test of a multiple regression model 

Using multiple regression model INCLUDEPICTURE "http://www.phoenix.aleks.com/alekscgi/x/math2htgif.exe/M?13" \* MERGEFORMATINET 


observations on each variable, a computer program generated the following : 

If the standard errors of the coefficients of the independent variables are, respectively, 
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can you conclude that the independent variable [image: image6.png]


is needed in the regression model? 
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B



denote the coefficients of the [image: image8.png]


variables in this model, and use a two-sided hypothesis test and significance level of [image: image9.png]0.05



to determine your answer. 

Carry your intermediate computations to at least three decimal places and round your answers as specified in the table. 
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“The nul hypothesis:

“The altemative hypathesis:

The tyne of test statistic Choose ane

The value ofthe test statistic
(Roundto atleasttwo decimal
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Can you conclude thatthe independent variable x, is
needed inthe regression model?

Clear | Undo

Explain

Copyight 92008 U Regents and ALEKS Corporation

“wo it

@ Internet





The  null hypothesis:

The alternative hypothesis:

The type of test statistic: t  Degrees of freedom:

The value of the test statistic (Round to at least 2 decimal places):

The two critical values at the 0.05 level of significance (round to at least 2 decimal places):

Can you conclude that the independent variable x2 is needed in the regression model?
